Rolled Ball Screws Compact Nut (Shaft Dia. 12, Lead 4: Shaft Dia. 15, Rolled Ball Screws Compact Nut (Shaft Dia. 12, Lead 4: Shaft Dia. 15,
Lead 5 to 10) accuracy Grade c10 Lead 5 to 10) Accuracy Grade c10, continued

Note:
Rolled Ball Screws Compact Nut = SR T Part Number W - E E O Filld with i i Grease S Showa Shell Seki
g (Shaft Dia. 8, Lead 2: Shaft Dia. 10, Lead 4) — Mt Ty yp . Accuracy _Shaft Lead Surface Surface oA Example BSSC1204 - 300 o ?HEd with Ilthufu;] Tlogp based gre:;:z(Al;/;Ta rease S2 made by Showa Shell Sekiyu K.K). ‘2
= Accuracy Grade C10 Standard o Grade |Diameter Material | Hardness Material | Hardness BSSCK1505 - 300 - F15 - P6 or accuracy of Ball Screws, see P.752-754. =
@ 4 il — i reatment O For details of Support Units, see P.792-802. g
@ Compact 12 ! 1055 | pardened Jg | Carburized O Caution: Do not remove any nuts from their screw shafts or allow nuts to overrun the stroke. 15
= Nut BSSC BSSCK c10 15 510 Carbon 56-62 — SCMazoH | 5862 — It may cause the balls to fall out or damage the ball recirculation parts. &
(7] ’ Steel HRC min. HRC min. O Included Collar is packaged together with main body of Ball Screws. =
Q0 Store this Included Collar with care. It is required when mating with Support Units. wn
g O Do not tilt the ball screw assembly. Due to its weight, the nut may rotate off of the shaft. ‘g
=} Features of Compact Nut  _.-- - Part Number | Parttumber |-| L |-[ F |- E - (FC, KC, etc) 2
Sl ()
=1 - Compact 0.D. e 4 Mterations  pssei505 - 270 sc7 5
c — Lower profile sliders can be used. z (7]
% ~ Longer strokes Alterations Code Spec. Alterations Code Spec. %
(=]
a3 2 ¢ No Machmmg on Support Side No machining added on the support side shaft end. Wrench Flats on Fixed Side Adds wrench flats on the fixed side shaft end.
CASZde Shaft Ent Ordering Code: NC Ordering Code: SZC
E:[?J:“ NC f 3 %@E szc | OBallbeaings wil ST | a | B |(0)
. L A-52 fall out if the ball
BSSC(K)1204 3 ot olar L . nitcrossesthe 45 1017
o 20 11 M4x0.7 Depth 6 40 -~ Material: 1045 Carbon Steel Ball Nut Orientation Reversed Changes the nut direction. Incomplete Hardened Area wrench flats.
"y 58 Ly (Support Side) (Foed i) Ordering Code: RLC Keyway on Fixed Side Shaft End Adds a keyway on the fixed side shaft end.
s 'ﬁ' ~l so S 5 Standard q[?g: RLC Detailed Keyway Dimensions P.752. ® p=5is not applicable.
RO.20r Less = ’*:*TT’ o R0.20rLess =2 g * Included Colar "o o ke | KC=1mm increment
) A5 s o 3 5/a Changed né]:gﬂ:n % P Ordering Code: KC10
g D e N | B e [ — . i e 1o O 3<KC<Px3 KC<F-1
“g H : - ] No Retaining Ring Groove on Retaining ring groove in not machined
¢ " o \ \\ ST ST Sl End on the support side shaft end. Keyway on Fixed Side Shaft End Adds a keyway at a customer specified area on the
co5 0.9%0" T « Collar co5|Co5 10 @ RNC | ordering Code: RNC fixed side shaft end. (Key groove dim. is the same
o 1, O Combination with FC is not available. askC) i
7.9% L Jx 10 : KLC | ® P =5is not applicable.
10 Y (Nut Motion Range) 10 30 F_\M10x1.0 27 4-04.5 Change Support Side Shaft End Changes the machining on the support side. %ﬁ g‘j =_1m(r:n EsreKTgné 5o
L Arrow View XX 08 Counterbore Depth 4.5 Machining For Screw Shaft 12, Q is selectable from 6, 8; é ering Code: KLC-KS-
6c for Screw 15, Q is selectable from 8, 10, and 12. 4K+5<Px3 K+8<F-1
G =1 mm Increment f - i i i
= E Flat Machined on Fixed Side Shaft End Adds a flat on the fixed side shaft end.
BSSC(K)1 505 33 *Included Collar t G Ordering Code: GC _QB G2_0 ) O SC =1 mm Increment
” " M50.8Depth 6 30 300 Material: 1045 Carbon Steel © 5<6<0x3 O dimension is shortened. 0 05 sc | Ordering Code: SC7
o3 29 , Change Support Side Shaft Changes the length of the support side shaft end. © 5<5C<Px3 SC<F-1
© sS - End Length = _—
2 33 T l ™y - . - g FC =1 mm Increment ShaftDia. | A
5 At o R0 B2 =N o3 12|79
RO.3orLess i = | ROSoriess o - *Included Collar ‘& | = 1A FC i 2 Flats on Fixed Side Shaft End Adds two flats on the fixed side shaft end.
F s s s . 151915
s s Ordering Code: FC20 —1 =iy . aN© Dt 1500 Drcit
ge - — 1 SGCH| SWC: 90° Position SGC: 120° Position
== - O 13<FC<30 (BSSC(K)2005,2010) SWC SGC SWe
S l T Tt T e 5| - O 19<FC<60 (BSSC(K)2005) SGC 1 i (T
= / i \ — f O dimension is shortened. g;_—ﬁ— —E 0@“’9""9 Code: SWC7
caols| |05 11501 T | \M C05 |C05 10 Tapped Hole on Support Side Adds a tapped hole on the support side shaft end. SIS, 0.5 S SHeS PRI, SR
= Shaft End MC=1 I t
915" X - i neremen Installing Special Temporary Shaft Special Temporary Shaft used for installing
0 10 i .
" Y (it Motion Rangel I~ . ] Ei::]AZ MC Orderlng (it MCZ:]D Ball Screw Nut. Always use Special Temporary Shaft
u ge) 10 30 M12x1.0 34 4-955 ﬁ—f 18<MC<30 when removing or installing Ball Screw Nut.
L Arrow View XX 09.5 Counterbore Depth 5.5 MC M5 x 0 3 @Y dimension is shortened. TAS
(Only fro BSBR(K)1505, BSBR(K)1510) R
crew Shaf
BSSC(K)1510 " *Included Collar
Material: 1045 Carbon Steel - I . .
2 37 11 Peripherals: combination of the following parts are available.
@ gg rlr o ‘Q\ Support Units Support Side
= 3 ti X g 3| 3 Iy
R 0.3 orLess LP = RO3orless o - *Included Collar ‘& g " . Nut Bracket .
[T n = el i |
o= 1t -3 — T -
33 I o® . Ll - .
e ' ’7’*11*’***’7”’7”7”* J;’ ) 1T B - ] Support Units Fixed Side
= il = \ —=-d P Support Units (Square) Support Units (Round) Nut Brackets (Block Type)
c 05| |[C05 450004 T | \— Collar o5 [C05 10| L . .
Py T o Combination with Support Units
T y
12 Y (Nut Motion Range) 10 30 F N\ M12x1.0 34 4-05.5 Ball Screw Part Number Recommended Support Units
. 09.5 Counterbore Depth 5.5 Part Numb .
L Arrow View X-X Screw Shaft art Number Fixed | Support . . .
Wee |outerpia. | L1 [0 Ty, | 5™ | side | sie | "% Combination with Nut Brackets
Part Number S D Basic Load Rating BSV 108 Sﬂuare (@] — 796 Ball Screw Part Number Recommended Nut Brackets
Ball Screw q o ow
Nut | Accuracy Ball Number Axial | Twisting BUV 10 Profile — (©] 799 Part Number
A B Y c Center Root i C Co o 12 04 Screw Shaft
Type | Grade | qype Shs:frte(‘]A.'D. Lead L *F *P Dia. Dia. Dia, |°f Circuits (Dyl;&mlc) (Stka':lc) Play | Direction BRW | 108 . 5 — po Type Outer Diameter Lead Type m Page
oun:
BSSC 150- | 15 8 L-65 BSSC BUR | 10 — O |80 04 BNFB 1204C 810
12 04 = = 2 1225 | (104) |40 979 | 5z7 | 0050 BSV | 12 | Sware | O — | 798 BSSC 12 05 BNFM 1505R 810
BSSCK 800 | 15-24 | 5-8 L-(50+F) Low BNFR
BSSC 150~ = m e 15 05 BUV 12 Profile — @) 799 15 10 BNFA 1510C 810
p c10 05 33 2 414 7.06 Right 10 _
Nut BSSCK 1200 | 15-30 | 6-10 L-62+) s ums 0100 BSW | 12 | gt 2 794
15 3.175 15.5 (12.25) 1 Row. Less BUN 12 — @) 798
BSSC 10 | 200 B 10 48 37 Lor 425 | 745 [0}
g E Aside from the part numbers shown above, there are a variety
BSSCK 1200 | 15-30 | 6-10 L-(52+F) of other Support Units available. (P.792-802).

*F and P are configurable for BSSCK only. @ F<Px3. kgf=Nx0.101972

72 @ MiSUMi There’s more on the web: misumiusa.com Check out misumiusa.com for the most current pricing and lead time. 773



